
CHEMISTRY

BOOKS - DISHA CHEMISTRY (HINGLISH)

BASIC CONCEPTS OF CHEMISTRY

Mcq

1. Give the numbers, 161 cm,0.161 cm,0.016 cm. The

number of significant figure for the three numbers

are

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eJVgQwjiu824


A. 3,4 and 5 respectivley

B. 3,3 and 4 respectively

C. 3,3 and 3 repectively

D. 3,4 and 4 respectively

Answer: C

View Text Solution

2. If the true value for an experimental result is 6.23

and the resuly reported by three students X,Y and Z

are, X: 6.18 and 6.28 Y: 6.20 ad 6.023 Z: 9.22 and 6.24

Which of the following option is correct:

https://dl.doubtnut.com/l/_eJVgQwjiu824
https://dl.doubtnut.com/l/_HEjtapwQSdRL


A. X precies, Y accurate, Z precies and accurate

B. X precise and accurate, Y not precise,Z precise

C. Both X & Z precies and accurate, Y not precise.

D. Both X and Y neither precise nor accurate, Z

both precise and accurate.

Answer: D

View Text Solution

3. Number of grams of oxygen in

is32.2gNa2SO4.10H2O

https://dl.doubtnut.com/l/_HEjtapwQSdRL
https://dl.doubtnut.com/l/_vFf9aeLpDShA


A. 20.8

B. 2.24

C. 22.4

D. 2.08

Answer: C

View Text Solution

4. 3g of an oxide of a metal is convertted to chloric

completely and it yeilded 5 g of chloride. The

equivalent weight of the metal is

https://dl.doubtnut.com/l/_vFf9aeLpDShA
https://dl.doubtnut.com/l/_yzN2H5nycakZ


A. 3.325

B. 33.25

C. 12

D. 20

Answer: B

View Text Solution

5.  contains:

A.  atoms

B.  molecules

1. N2OatNT P

× 10221.8

224

× 10236.02

22400

https://dl.doubtnut.com/l/_yzN2H5nycakZ
https://dl.doubtnut.com/l/_WIehRJC91VyN


C.  electrons

D. All of the above

Answer: D

View Text Solution

× 10231.32

224

6. One of the following combition which illustrate

the law of reciprocal proportions?

A. 

B. 

C. 

N2O3, N2O4, N2O5

NaCi, NaBr, NaI

CS2, CO2, SO2

https://dl.doubtnut.com/l/_WIehRJC91VyN
https://dl.doubtnut.com/l/_4rgJE4AOJ6bs


D. 

Answer: C

View Text Solution

pH3, P2O3, P2O5

7. All aqueous solution of oxalic dihydrate contains

its 6.3g in 250 ml. The volume of 0.1 N NaOH

required to completely neutrilize 10mL of this

solution

A. 4mL

B. 20mL

C. 2mL

https://dl.doubtnut.com/l/_4rgJE4AOJ6bs
https://dl.doubtnut.com/l/_UNOsZ0uIikq4


D. 40mL

Answer: D

View Text Solution

8. The density of 3M solution od sodium chloride is

. The molality of the solution will be:

(molar mass, .

A. 260 m

B. 2.18 m

C. 2.79 m

1.252gmL− 1

NaCI = 58.5gmol− 1)

https://dl.doubtnut.com/l/_UNOsZ0uIikq4
https://dl.doubtnut.com/l/_emA1WZqHd0RL


D. 3.00 m

Answer: C

View Text Solution

9. The number of atoms in 0.1 mole of triatomic gas

is: ( .

A. 

B. 

C. 

D. 

NA = 6.02 × 1023mol− 1)

6.026 × 1022

1.806 × 1023

3.600 × 1023

1.800 × 1022

https://dl.doubtnut.com/l/_emA1WZqHd0RL
https://dl.doubtnut.com/l/_ihg0FKF8T6Ow


Answer: B

View Text Solution

10. The simplest formula of a compound containing

50% of element X(atomic mass 10) and 50% of

element Y (atomic mass 20) is

View Text Solution

11. Which on e of the following is the lightest?

A. 0.2 mole of hydrogen gas

https://dl.doubtnut.com/l/_ihg0FKF8T6Ow
https://dl.doubtnut.com/l/_cKadxVn2iLum
https://dl.doubtnut.com/l/_CQulr6zdciYA


B.  molecules of nitrogen

C. 0.1 g of silver

D. 0.1 mole of oxygen gas

Answer: C

View Text Solution

6.023 × 1022

12. If  is A vogadro's number then number of

valance electrons in 4.2 g of nitride ions  is

A. 

B. 

NA

(N 3 −

4.2NA

2.4NA

https://dl.doubtnut.com/l/_CQulr6zdciYA
https://dl.doubtnut.com/l/_qwblfELGxw6m


C. 

D. 

Answer: B

View Text Solution

1.6NA

3.2NA

13. The set of numerical coefficients that balances

the equation

 is

A. 2,2,1,2,1

B. 2,2,1,1,1

K2CiO4HCI → K2Cr2O7 + KCI + H2O

https://dl.doubtnut.com/l/_qwblfELGxw6m
https://dl.doubtnut.com/l/_PP0NOuxuonih


C. 2,1,1,2,1

D. 1,1,2,2,1

Answer: A

View Text Solution

14. Match the column 

A. A-III,B_II,C-V,D-I,E-IV

B. A-V,B_I,C-IV, D-III:E-II

C. A_-I,B-V,C-IV,D-III,E-II

D. A-V,D-IV,C-III,D-II,E-I

https://dl.doubtnut.com/l/_PP0NOuxuonih
https://dl.doubtnut.com/l/_1VnatULcpJEP


Answer: B

View Text Solution

15. The maximum number of molecules are present

in

A. 

B. 

C. 

D. 

Answer: A

15LofH2gasatST P

5LofN2gasatST P

0.5gofH2gas

10gofO2gas

https://dl.doubtnut.com/l/_1VnatULcpJEP
https://dl.doubtnut.com/l/_2QJK9YmwGJ4S


View Text Solution

16. The number of moles of oxygen in one liter of air

containing 21% oxygen by volume, under standard

conditions are

A. 0.0093 mole

B. 0.21 mole

C. 2.10 mole

D. 0.186 mole

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_2QJK9YmwGJ4S
https://dl.doubtnut.com/l/_W6euA2TYJhxD


17. Assuming fully decomposed, the volume of 

released at STP on heating 9.85 g of  (Atomic

mass,B a=137) will be

A. 112 L

B. 2.24 L

C. 4.06 L

D. 0.84 L

Answer: A

View Text Solution

CO2

BaCO3

https://dl.doubtnut.com/l/_W6euA2TYJhxD
https://dl.doubtnut.com/l/_2Mc4IDpT5VTg
https://dl.doubtnut.com/l/_dDSTJ95kyp3x


18. The ratio of the molar amounts of  needed

to precipitate the metal ions from 20 mL each of

 and  is

A. 

B. 

C. 

D. indefinite

Answer: B

View Text Solution

H2S

1MCa(NO3)2 0.5MCuSO4

1: 1

2: 1

1: 2

https://dl.doubtnut.com/l/_dDSTJ95kyp3x


19. Consider the following statement. (i) Atoms of

H,O,N and C have identical properties but different

mass. (ii)Matter is divisible into atoms which are

further indivisible. (iii)The ratio of

 in nitric oxide is .

(iv)Dalton's atomic theory support law of

conservation of mass. Which of the following pairs

of statements is true according to Dalton's atomic

theory?

A. (i) and (ii)

B. (ii) and (iii)

C. (ii) and (iv)

N : H ∈ NH3isl3 and N : O 2: 1

https://dl.doubtnut.com/l/_IgpCHzGSutss


D. (i) and (iv)

Answer: C

View Text Solution

20. How many moles of  would be in 50 g

of the substance?

A. 0.083 mole

B. 0.952 moles

C. 0.481 mole

D. 0.140 mole

Al2(SO4)3

https://dl.doubtnut.com/l/_IgpCHzGSutss
https://dl.doubtnut.com/l/_2l7r8F4Pqu9D


Answer: D

View Text Solution

21. Experimentally it was found that a metal oxide

has dormula . Metal M, present as 

 in its oxide. Fraction of the metal

which exist as  in its oxide. Fraction

of the metal which exists as  would be:

A. 0.0701

B. 0.0408

C. 0.0605

M0.98O

M 2 + and M 3 +

M 3 + and M 3 +

M 3 +

https://dl.doubtnut.com/l/_2l7r8F4Pqu9D
https://dl.doubtnut.com/l/_sr2sDzOiy6Hd


D. 0.0508

Answer: B

View Text Solution

22. 20.0 g of magnisium carbonate sample

decoposes on heating to give carbon dioxide and

8.0 g magnesium oxide. What will be the prcentage

purity of magnesium carbonate in the sample?

A. 75

B. 96

C. 60

https://dl.doubtnut.com/l/_sr2sDzOiy6Hd
https://dl.doubtnut.com/l/_yH6GvXxdFTL1


D. 84

Answer: D

View Text Solution

23. A sample of  contains .

The number of formula unit of this sample are`

A. 

B. 

C. 

D. 

AIF3 3.0 × 1024F − ions

9 × 1024

3 × 1024

0.75 × 1024

1.0 × 1024

https://dl.doubtnut.com/l/_yH6GvXxdFTL1
https://dl.doubtnut.com/l/_0YRJ6GvNnN7L


Answer: D

View Text Solution

24. Read the following and choose the incorrect

statements. (i) Both weight and mass are same

quantities used for measurement of amount of

matter present in a substance. (ii) Mass and the

weight of a substance vary from one place to

another due to change in gravity. (iii) SI unit od

mass is kilogram and which SI unit of weight is

gram.

A. (i) and (iii)

https://dl.doubtnut.com/l/_0YRJ6GvNnN7L
https://dl.doubtnut.com/l/_5bh0IMd5HBQj


B. (ii) and (iii)

C. (i) and (ii)

D. All of the above

Answer: D

View Text Solution

25. Number of atoms in 558.5 gram of

 is

A. twice that in 60 g carbon

B. 

Fe(at. wt. ofFe = 55.85gmol− 1)

6.023 × 1022

https://dl.doubtnut.com/l/_5bh0IMd5HBQj
https://dl.doubtnut.com/l/_z4GDOzOuaLKc


C. half that in 8 g He

D. 

Answer: A

View Text Solution

558.5 × 6.023 × 1023

26. What is the mass of precipitate formed when

50mL of 16.9% solution of  is mixed with 50

mL of 5.8% NaCI solution?

9Ag=107.8,N=14,O=16,Na=23CI=35.5)`

A. 28g

B. 3.5 g

AgNO3

https://dl.doubtnut.com/l/_z4GDOzOuaLKc
https://dl.doubtnut.com/l/_wGg9yjzeACJi


C. 7 g

D. 14 g

Answer: C

View Text Solution

27. Which of the following option represents correct

limiting reagents in reactions(i),(ii) and (iii)

respectively. 

A. 

B. 

C, N2, O2

C, N2, P4

https://dl.doubtnut.com/l/_wGg9yjzeACJi
https://dl.doubtnut.com/l/_xSM55ki7AHlM


C. 

D. 

Answer: D

View Text Solution

O2, H2, P4

O2, N2, P4

28. A compound made up of two elements A and B is

found to contain 25% A(atomic mass=12.5)and

75%B(atomic mass=37.5). The simplest formula of

the compound is

A. AB

B. AB2

https://dl.doubtnut.com/l/_xSM55ki7AHlM
https://dl.doubtnut.com/l/_NWuMxXdrGMnv


C. 

D. 

Answer: A

View Text Solution

AB3

A3B

29. On analysis is certain compounds was found to

certain iodine and oxygen in the ratio of 254 g of

iodine (atomic mass 127) and 80 g oxygen (at

mass=16). What is the formula of the compound.

A. IO

B. I2O

https://dl.doubtnut.com/l/_NWuMxXdrGMnv
https://dl.doubtnut.com/l/_v5iHdeRKIXtN


C. 

D. 

Answer: D

View Text Solution

I5O3

I2O5

30. The following equation is a completely balanced

rquation. 

In the above reaction, the number of equivalent per

formula weight of  is

A. 3

3Sn + 12HCI + 4HNO3 → 3SnCI4 + 4NO + 8H2O

HNO3

https://dl.doubtnut.com/l/_v5iHdeRKIXtN
https://dl.doubtnut.com/l/_R11SuOFjJp1O


B. 4

C. 1

D. 2

Answer: A

View Text Solution

31. Ina compound CltH and N are present in 9:1:3:5

by weight. If molecular weight of the compound is

108, then the molecular formula of the compound is:

A. C2H6N2

https://dl.doubtnut.com/l/_R11SuOFjJp1O
https://dl.doubtnut.com/l/_vm4QcvVU3vOi


B. 

C. 

D. 

Answer: C

View Text Solution

C3H4N

C6H8N2

C9H12N3

32. Arrange the number in increasing no. of

significant figures. 0.002600,2.6000,2.6,0.260

A. 2.6lt0.260lt0.002600lt2.6000

B. 2.6000lt2.6lt0.002600lt0.260

https://dl.doubtnut.com/l/_vm4QcvVU3vOi
https://dl.doubtnut.com/l/_xLYflWGRu48t


C. 0.260lt2.6lt0.002600lt2.6000

D. 0.002600lt0.260lt2.6000

Answer: A

View Text Solution

33. How many moles of lead (II) chloride will be

formed from a reaction between 6.5 g of PbO and

3.2 g of HCI?

A. 0.044

B. 0.333

https://dl.doubtnut.com/l/_xLYflWGRu48t
https://dl.doubtnut.com/l/_DqHKtG0Aaqjv


C. 0.011

D. 0.029

Answer: D

View Text Solution

34. Equal weights of NaCI and KCI are dissolved

seperately in equal volumes of solutions. Molarity of

the two solutions will be:

A. equal

B. that pf NaCI will be less than that of KCI

https://dl.doubtnut.com/l/_DqHKtG0Aaqjv
https://dl.doubtnut.com/l/_eUpdeaMqXKGG


C. that of NaCI will be more thsn that of KCI

solution

D. that of NaCI will be about of HCI solution.

Answer: C

View Text Solution

35. Gastric contains contains 3.0 g of HCI per liter.If a

person produces 2.5 g of gastric jiuce per day.How

many antacid tables each containing 400 mg of

 are needed to neutrlize all the HCI

produces per day?

AI(OH3)

https://dl.doubtnut.com/l/_eUpdeaMqXKGG
https://dl.doubtnut.com/l/_ml5nA3TMPYRV


A. 18

B. 14

C. 20

D. 17

Answer: B

View Text Solution

36. Which of the following is the correct empirical

and molecular formulae of compound, if the

molecular mass of a compound is 80 and compound

contains 60% of C, 5% of H and 35% of N?

https://dl.doubtnut.com/l/_ml5nA3TMPYRV
https://dl.doubtnut.com/l/_me9PvqWluYgK


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

C2H2N, C4H4N2

C3H4N2, C6H8N4

C2H4N2, C4H8N4

C2H2N, C2H2N

37. A gas mixture of 3 liters of propane  and

butane on complete combustion at 25 ◦ C

produced 10 liter . Find out the composition of

gas mixture (Propane:Butane)

(C3H8)

(C4H10)

CO2

https://dl.doubtnut.com/l/_me9PvqWluYgK
https://dl.doubtnut.com/l/_qMhEQupjpIZw


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

2: 1

1: 2

1: 5: 1: 5

0.5: 2.5

38. Arrange the following in the order of increasing

mass(atonic mass:  (i)

one atom of oxygen (ii)one atom of nitrogen (iii)

O = 16, Cu = 63, N = 14)

https://dl.doubtnut.com/l/_qMhEQupjpIZw
https://dl.doubtnut.com/l/_GVW6vl42ImeM


mole of oxygen (iv) mole of

copper

A. 1IltIIIIltIV(b)

B. IltIIltIIIltIV

C. IIIltIIltIVltI(d)

D. IVltIIltIIIltI

Answer: A

View Text Solution

1 × 10− 10 1 × 10− 10

39. When 30 liters of  and 30 liter  are reacted 

 is formed and the ueild is only 50%. The

H2 N2

NH3

https://dl.doubtnut.com/l/_GVW6vl42ImeM
https://dl.doubtnut.com/l/_JurFnCXUrv1H


compition of the gasceous mixture wil be

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

5LofN2, 5LofH2 and 5LofNH3.

5LofN2, 10LofH2 and 10LofNH3.

10LofN2, 15LofH2 and 5LofNH3.

5LofN2, 15LofH2 and 10LofNH3.

40. How many moles of magnesium phosphate,

 will contain 0.25 mole of oxygen

atoms?

Mg3(PO4)2

https://dl.doubtnut.com/l/_JurFnCXUrv1H
https://dl.doubtnut.com/l/_SvHOrRTo6pes


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

1.25 × 10− 2

2.5 × 10− 2

0.02

3.125 × 10− 2

41. 1.12 mL of a gas is produced at S.T.P by the action

of 4.12 mg of alchohal ROH will methyl magnesium

lodide. The molecular mass of alcohal is

https://dl.doubtnut.com/l/_SvHOrRTo6pes
https://dl.doubtnut.com/l/_HP0KbZxvAy7N


A. 16

B. 41.2

C. 82.4

D. 156

Answer: C

View Text Solution

42. If 224 mL of a triatomic has has a mass of 1 g at

273K and I atmoshphere pressure then the mass of

one atom is

https://dl.doubtnut.com/l/_HP0KbZxvAy7N
https://dl.doubtnut.com/l/_oWudQXJ1L0lX


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

8.30 × 10− 23

2.08 × 10− 23

5.53 × 10− 23

6.24 × 10− 23

43. A compound contains atoms of three elements

as A,B and C. If the oxidation number of Ais+2,Bis+5

and that of C is -2, the possible formula of the

compounds is

https://dl.doubtnut.com/l/_oWudQXJ1L0lX
https://dl.doubtnut.com/l/_eHeDbmRrNCug


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

A3(B4C)2

A3(BC4)2

ABC2

A2(BC3)2

44. 5 moles of  and 5 moles of  react to form 

. Number of moles left in total when only 60% 

 is used is

SO2 O2

O3

SO2

https://dl.doubtnut.com/l/_eHeDbmRrNCug
https://dl.doubtnut.com/l/_pOrA2aiqCkbU


A. 6.5

B. 10

C. 8

D. 8.5

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_pOrA2aiqCkbU

